EXERCISES — GRAPHS

Name:
1. Find (a) the Mid-point of AB 5. Find the equation of the line passing
(a) the Length of AB and ... through P=(-2,4) and Q=(8,-1)
(b) the Gradient of AB
:P'f
/EU‘3 |
A(-5,-2)
6. Find the equation of the line passing
through A=(3,-5) which is

2. Sketch the graph of :-
2x-3y=9
AY

1l

3. What is the gradient of the line:-
3x+5y-15=0

4. Find the equation of the line through
P=(2,-5) with gradient m= -3

perpendicular to: 3x +y =11

7. In AABC, A=(4,8) B=(1,-2) & C=(6,0)
If M and N are the mid-points of AB
and AC respectively, prove that MN
is parallel to BC. (draw a diagram!)




8. Sketch the graphs of the following

equations:-
-6
a =—
@ y=—
Y
W 5 4
(b) y=x*-9
FRY
3+
2 2
Y
c —+-=1
© 16 36
MY
o

9. What is the equation of the
following graphs ?

(a)
Equation is:
(b)
Ay
4
12
> +X
a
Equation is:-
(c)
AY
(2,4)
N 34
o 4‘\
\
!

Equation is:-




EXERCISES — GRAPHS

Name:

SoOLUTIoNS

1. Find (a) the Mid-point of AB = (1 ) '/z,)

(@) the Length of AB and ... = |3 uals
(b) the Gradient of AB m= 5/'2’
&Y
B(7.3)
/ +X
- i
A(-5.-2)

2. Sketch the graph of :-
2x-3y=9

3. What is the gradient of the line:-

3x+5y-15=0
5‘3 = ~3 5
4 = -:;g_.‘;z.-c—;%

» ‘chw m = _3/5
4. Find.the equation of the line through
P=(2,-5) with gradient m= -3

Y+5 = =3 -2)
H+S5 = -3x + 6
'ﬂ = -3 4

[ 6r 3x+y~(=0"

5. Find the equation of the line passing
through P=(-2,4) and Q=(8,-1)

™, D=y - -5
& " Tto-c> @

E‘;,u Y-t = -+ (x+2)
-8 = —x -2

xray-—c =S|

(ryg = ~5x 3

-4
2

6. Find the equation of the line passing
through A=(3,-5) which is

perpendicular to: 3x +y =11

U= 324+ ||
=7
M =-3

Egu: Y+5 = %(x-—%)

?>j+15" = X -3

Lo -3+ & =~OI

7. In AABC, A=(4,8) B=(1,-2) & C=(6,0)
If M and N are the mid-points of AB
and AC respectively, prove that MN
is parallel to BC. (draw a diagram!)
M=(2:5,3) N=(54%

Gradiont o MK = W=z

(s)-(2-5)

s . 2

2.5 5
ji\&izu&#'g( B = (0)-C2)

(e-(»
2
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8. Sketch the graphs of the following
equations:-

-6
y=——"
X

(@)

LAY

. -3,2)
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(b) y=x%-9
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(c)
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following graphs ?

(a)

k

9. What is the equation of the

9* %

Seibs ! ,c=1§
q=4

k

AY

o)

15
Equationis: | & = =
(b)
AY xz_}(ﬂ,i)z; 22
4
7] =2
, .
0
o 2 % —
Equation is:- | ="+ '-'—Hﬂ =

(©)
2y X~ )= ~4a(y-4)
2 Subs, (0;0)
PN 4= walw
\ 4 = (ba
£ y A= a
/ v

e 2
Equation is: @_1> = - (ﬂ - i)
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